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The impact of public spending on unemployment and inflation in Algeria during 

the period (1990-2020) : A standard study using the ARDL model. 
 



 

 

JEL  :C22 ; E24 ;E3 ;E62

Abstract: This study aims to know the extent of the impact and the relationship between public 

spending on unemployment and inflation in Algeria (1990-2020), because of their great importance in 

economic stability and achieving growth, especially in recent times with the collapse of oil prices, the 

spread of the Corona virus and its impact on the economy, by using the model ARDL. 
The study found results, the most important of which is the existence of a relationship in the short term 

and a balanced relationship in the long term between public spending and unemployment, that it has a 

weak and negative impact, It also concluded that there is a short-term relationship and a long-term 

equilibrium relationship between public spending and inflation, just as the public spending policy has a 

weak and negative impact on the rate of inflation, which it has a weak and negative impact, but it is 

temporary, which requires the Algerian government to rationalize expenditures and build a base 

Economic through economic diversification to move from rentier spending to sustainable spending. 
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𝑪𝑯𝒕 = −𝟎. 𝟎𝟎𝟎𝟎𝟎𝟎𝟎𝟎𝟎𝟎𝟗𝟖𝟏𝑮𝒕 + 𝟑𝟎. 𝟏𝟔𝟑𝟓
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𝑰𝑵𝑭𝒕 = −𝟏. 𝟐𝟕𝟓𝟔𝑮𝒕 + 𝟑𝟑. 𝟕𝟒𝟖𝟔
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